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raise virus fr
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infected plant.

(8)
©




\J#" Ruminant animals can digest cellulose

C

/.(A() Methanogens are

m their food, where as human beings

are unable to do so. This is because

absent in

human gut. =«
(B) Methanogens are present in
human gut.

(C) Cellulose is a complex sugar.

(D) Cellulose reduces the bulk of

food.

%. In sewage treatment, secondary

treatment is  considered  highly

significant, because

(A) It increases the organic content
of sewage.

(B) It helps to remove debris from
the sewage.

BOD level of

reduces the

(©) It

sewage.

(D) It helps in the production of

biogas.
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Biolistics method is suitable for gene:®
transfer into

(A) Plant cells
(B) Viruses

(C) Animal cells
(D) Bacteria

Identify the labels M and N in thlc
following Agarose gel electrophoresis

representation.

(A) M — Smallest DNA bands
N — Largest DNA bands
(B) M — Digested DNA bands
N — Undigested DNA bands
(C) M — Hybridised DNA bands
N — Unhybridised DNA bands
(D) M — Largest DNA bands
N — Smallest DNA bands

From the given combinations of steps
in PCR, identify the enzyme dependent

step/s.

(A) Extension only

(B) Annealing and extension
(C) Annealing and denaturation

(D) Denaturation and extension




O

N

Now-g-days, the early diagnosis of
bacterial or viral infection in humans is
possible using

(A) CT Scan

(B) Serum analyser
(C) DNA sequencer
(D) PCR

Which of the following features of
plants is not helpful in adapting to
desert life ?

(A) Absence of trichomes on leaf
surface '

(B) Presence of thick cuticle on the
leaf surface

(C) Leaves modified into spines

(D) Presence of sunken stomata

In the following equation of Verhulst -
Pearl logistic growth, the letter ‘r’

denotes

fREES o N ‘

dt T
(A) Population density
(B) Extrinsic rate of natural increase
(C) Intrinsic rate of natural increase
(D) Carrying capacity

In RNA interface, the dsRNA molecule

prevents -

(A) aminoacylation

(B) transcription of mRNA

(C) - transport of RNA from nucleus
to cytoplasm

(D) translation of mRNA

Space F

36/

)lﬁ “(C) Wolf

e
C

Identify the possible link ‘M in the
following food chain :

Plant — Insect — _s Snake — Eagle

(A) Ichthyophis (B) Rabbit

£b) Frog -

The organisms which invade a bare
area to initiate an ecological succession

are known as

(A) Pioneer species -
(B) Key stone species
(C) Climatic species
(D) Endemic species

\ 38. The shape of the pyramids reflects the

/

W

or Rough Work

growth status of the population.
Identify the type of age pyramid
represented  below for human

pc_\pulatiun.

T

|
——
B

(A Declining (B) Ascending

(C) Expanding (D) Stable .

C4



29+ Which one of the following is a wrong
statement ?

C (A) Ozone in upper part of the

atmosphere is  harmful to

animals.

(B) Most of the forests have been
lost in tropical areas.

(C) Green house effect is a natural

phenomenon.

= (D) Eutrophication is a natural

phenomenon in fresh water lakes.

According to Supreme Court of India,
ruling with respect to ‘Bharat Stage
V1’ Norms, from which date, these are
supposed to be implemented in the

country ?
(A) 10" December, 2020
(B) 1* April, 2020
(C) 1® June, 2021
(D) 1% January, 2021
3 Which one of the following 1s not

included under in-situ conservation :

C (A)

Biosphere Reserve

\¥ “ (B) National Park
(C) Sanctuary
(D) Botanical Garden

Biology

11

Space For Rough Work

Observe the following Simplli!cd
scheme and choose the correct option
that matches with the letters given 10
the boxes,

Vertcbrata

(Division)

(Lacks Jaw)

(Bears Jaw) -

Super Class

(Bear limbs)

_r
(Bear fins)
p- Agnatha, ¢ - Gnathostomata,
r - Tetrapoda, s - Pisces
(B) p-Agnatha, q - Gnathostomata, i
r - Pisces, s - Tetrapoda °
p - Gnathostomata, ¢ - Agnatha,
r - Tetrapoda, s - Pisces
(D) p - Tetrapoda, q - Pisces,
r - Gnathostomata, s - Agnatha

Match the following classes of Fungi

(Column-I) with the examples
(Column-I1).

Column-1 Column-1I
(1) Phycomycetes (p) Penicillium
(2) Ascomycetes (q) Alternaria
(3) Basidiomycetes (r) Albugo
(4) Deuteromycetes (s) Puccinia

Choose the correct option :

(A) (-, 2)-()B)-(s) (4 -(q)
(B) (1)-(p),(2)-(s), 3)- (), (4) - (q)
©) (1)-(q)2)-(p),(3)-(s),(4)- (1)

(D) (V)-(),2)-(p)3)-(q), (4)-(s)

C-4






